Ch 3 – Solving Quadriatic Equations

1. Important Results

a) (a + b)2

= a2 + 2ab + b2
b) (a – b)2

= a2 – 2ab + b2
c) (a + b) (a – b)
= a2 – b2

(difference of squares equation)

2. Factorisation

a) extracting common factors from all terms of the given expressions

b) grouping terms in a manner that the new terms obtained have a common factor

3. Quadriatic Equations



x2 – 5x + 6 = (x  –  2)

(x  –  3)




4. If two factors P and Q are such that P x Q = 0,

then either P = 0 or Q = 0 or both P and Q = 0

This principle is used to solve quadratic equations
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-2x + -3x = -5x





2 x 3 = 6








